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et & frd %C _Instructions for the candidates :

| qfure oMR Iev-uFE G qgar 1+ Candidates must enter his /

; . o he sti Booklet Serial
oy giRTET FHiE (10 dHH F) (-
No. (10 Digits) in the OMR

/ . Answer Sheet.

2 QT FUTGYa g wi=t 7 & 2. Candidates are reéuired to give
F their answers in their own words

as far as practicable.

3. gfeat 3t Efvd w R4 gT HF 3. Figures in the right hand margin
T’Tf?:' ﬁﬁ"fz' St é} / indicate full marks.

4. J¥A F @ gEE 9gH % fow 4 15 minutes of extra time have
b .
15 firae F7 siffe g9g far mar een allotted for the candidates to

g1
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read the questions carefully.




5. IF F¥9F 31 @vgi 7 _ guw-ar 5 This question. booklet is divided

into two sections — Section-A
“ X! and Section-B.

6. TWVT-F ¥ 80 Wﬁg gog & 6. In Section-A there are

. , 80 objective type questions oul
fd 40 wov oAt &1 afk

of ‘which 40 questions are

Wt 40 @ i gyl & I

compulsory. If the candidate
# 3‘, w40 Bi‘”i‘ wl i"? answers more than 40 questions,

the ﬁrst 40 answers only will be

qodia 4 s aedd JvT &

evaluated. Each question carries -

fe 1 ofF frifta &1 oMR 3wr-

1 mark. For answering these

HE W R_RT 70 FEt fAwey # ' '

darken the correct circle given on
Frel/Aet dier 97 & w1 fEdt Wt the OMR answer sheet with black

m*m/aﬁw/' / blue ball pen. Do not use

: | whitener / liquid material /
&g / ATGA AT FT OMR IR~

blade / nail etc. on the OMR
AE H WA e @ ar=r

answer ,sheef otﬁerwise the

q-_ﬁzarr g 3= g result will be treated invalid.
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- GUE-§ T QI f%mw ) 7. In Section-B there are Shor:t
/. - 1 . 4

F=ria For 5 faval & oy IWIT
oyt & 9w g & ki 2 o9&
FriRa &1

e 4 6 oy IO0T W

(QNos. 1T 6 & Frm fal

aww & g A E
ST TS § S ST R
(‘Q. Nos. o7 12 & Frrel ot
29yl & IA 37 &1

sreforeR § 4 g IAIT T

(Q.Nos.lsﬁls)ﬁﬁﬁr#ﬁﬁ?
zw#.a‘rmé#é‘;
syiad F 6 g IT0T T

(Q. Nos. 21 § 26) 3’ f?‘rr?#fch??

g & g 3 E
ATITT A= H 4ﬁgém?ﬂm
(Q. Nos. 29 & 32) 7, Forrdl ot
275 & Fav 37 &

Answer Type questions of
5 subjects of Social Sclence.

Each question carries 2 marks.

History has 6 Short Answer Type
questfbns (Q. Nos. 1 to 6) out of
which any 3 questions are to be

answered.

'Politica! Science has 4 Short

Answer Type questions (Q. Nos.

9 to 12) out of which any
2 questidns are to be
answered. .

Economics has 4 Short Answer
Type questions (Q. Nos: 15 to 18) |
out of which any 2 questions
are to be answered. |
Geography has 6 Short Answer
Type questions (Q.j Nos. 21 to 26)
out of which any -3 ‘questtons .
are to be answered. |
Disaster Management has | |

4 Short Answer Type questions

(Q. Nos. 29 to 32) out of which

any 2 questions are to be

answered.
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ﬁ*sﬁﬁméﬁésﬁﬁa"m

(Q. Nos. 7, 8, 13, 14, 19, 20, 27,

3813‘1 % 0¥ & e 4 dAF

FritRer &1 shiera, et famm,
3efeTeE U ieT ° el @ -

TS W99 &1 I QT &/

8. f&at ¥R & soiaeif-a U w1 8

5T Quicrar afad &

Apart from these, there are 8 Long

. Answer Type questions (Q. Nos.

7, 8, 13, 14, 19, 20, 27, 28). Each
question carries 4 marks. One

Long Answer Type question each

‘from History, Political Science,

Economics and Geography is to be

answered.

Use of any electronic appliances is

strictly prohibited.
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WU - 3 / SECTION - A

aﬁﬁﬁ' W¥T / Objective Type Questions

qvT 9T 1#sow$mm$wwﬁm&vwi forrt @
vF Wet &1 a9 gRT g7 ¢ Wl fawew #i oMR iz T fafeaa &1 Faw

40 TV F gt Iwv 1 - .40'x1=40

Question Nos. 1 to 80 have four options each, out of which only one is correct.

Mark your selected option on the OMR sheet. Answer any 40 questions.

40x1=40

ﬂmﬁﬁﬁmﬂmw@qwﬁwﬁﬁ% ?
T &7 - ' (B) ﬁ?ﬂ'ﬂ'ﬂ?@?

_/&r/ﬁfﬁwﬂi | D) ¥ Q@ H T

Which of the following has the largest share in Gross Domestic

Product ?
. (A) Primary sector (B) Secondary sector
Tertiary sector (D)  None of these

=t A @ i Qeiarst arderer H1 0T 76 € 2
(A) T w el we B) et e
(C) Hd g Py i e
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- eolist economy ?
Which of the following is not a characteristic of capitalis .

(A)  Private ownership of resources
(B) Private profit
(C)  Price mechanism

(D) Social welfare

/ﬁaﬂaﬁaﬁwmwﬁﬁﬂ%ﬁﬂﬁm@iwﬁﬁt% ?

\w/éﬁ - (B) e

(€ W& D) T QIS T

Most of the population of Bihar is dependent on which sector for

livelihood ?
(A)  Agriculture (B) Industry
(CY” Service - (D)  None of these

Jy/ﬂmam .(B) mw’\?ﬁr{m-

€ THHFE@HFIET (D) a‘imgﬁm%qr
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The agency function of banks is

(A)  to give loan

(B) to accept deposits

(C) insu_rancé premiuin payment

(D) to give locker facility

A) TR . (B)

m%%&mﬁnﬁmﬁﬁaﬂﬂm’rﬁm% 2

. -

(C) sRaon \y,/rr'ran

Which state of India has the highest per capita income ?

(A)  Maharashtra (B)
fywos o

TRa B 48 anferes A e @] W, 2

(A) 195 (B)

1991 | (D)

Punjab

Goa

1980

1995

When was the New Economic Policy implemented in India ?

) 1950 | | B)

‘© 1991 (D

1980

" 1995

(L/4)111 A ~ [xsp-5511
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7. N ave R A g Tog 1 @ wE € 7
() Y (B) ¥
€ feet | (D) TERH

Which state has the highest rank in the National Human

Development ?
()  Maharashtra (B) Kerala
© Dehi (D)  Gujarat
/ﬁ'ﬂ?%’iﬂw’% 3 b _
| (&) . TRIT L J;/ﬁm
© & o o) e
What is the currency of Singapore ?
(A) Krona ®) Dollar
_(C) Ruble (D) Rial
9. mﬁ;ﬁﬂﬁwmmwmm% ?
() TEE | B wRaE fe@ 9%

© e i D) AW
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Credit creation is done by which financial institution ?

(A} NABARD

(C) Commercial bank

0. fet T, o aE & o g 5 EE w2

&) 9

(© e fagd

Who said, "Money is what money does" ?

(A)  Knapp

(C) Hartley Withers

(B)

(B)

D)-

®

(D)

(D) None of these

Jferm=

Coulbourn*

Saligman

Reserve Bank of India

11. ﬂﬂﬁ_ﬁﬂﬁ?ﬁlﬂ?m%méqmwmu%mﬂiﬂﬂ% ?

(@A) S g

(C) qelra &

B) g &5

(D). ﬁﬁ{#aﬁéaﬁ

: Which,sq:ctor provides maximum employment opp_ortunify in India ?

(A) Primary sector

(C)  Tertiary sector

(B)

(D)

None of these

Secondary sector
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12, fas a alfim Qo e A A weiw

(A) AT QAR A @) R

(C) &M F T|A AT (D) 70 R IS T

The maximum employment providing programme of the world is
(A) Jawahar Rojgar Yojana  (B) MNREGA

(C) Food for Work .(D} none of these

13. mmmmmﬂvﬁmmaﬁmmﬂ%
(&) FeiteTor (B) AT
(C) SR | {D) wsf\mﬂ

Removal of unnecessary controls and restrictions imposed by the

government is called
(A). Privatization (B)  Globalization

(C) Liberalization (D) ‘'Nationalization

€) 1997 (D) 1998

(L/4)111 A XSP-5511 Page 10 of 4




When did India become the member of World Trade Organisation ?

(A) 1995 (B) 1996

(C) 1997 (D) 1998

}Kmﬁmﬁwm afufram @t Gon #5983 ?
(A) 1975 ' ﬁi/l%ﬁ

© 1987 . (D) 1989

When was the Consumer Protection Act announced in India ?

(A) 1975 (B) 1986

(D) 1989

- (A) BT Tt

(C) o IE= TR

Who was tﬁc first Chairman of the Planning Commission ?

(). Mahatma Gandhi (B)  Sardar Vallabh Bhai Patel

-

(C) Dr.Raj endra Prasad (D)  Pandit Jawaharlal Nehru
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-What type of economy is found 1n India ?.

(A) Capitalist ‘ (B)  Socialist

(C Mixed . | (D) Communist .

Ui W o-ffen e o e e fet forlt 2
W o e B . o e o
T (© o dFama, w oy = h

~ Who wrote the book, 'Poverty and Un-British Rule in India’ ?

(A) Prof. R&fgnar Nurkse (B)  Prof. Aciam Smith
(C)~ Dr.V.K.R. V. Rao N iD) Dadabhai Naoroji
| (A) '19021? | | \/a':n/ 1905 H
: © 19077 ) (D) | 1911 F

L4111 A | XSP-5511] - Page 12 of 44



participation of Bengal happened in
(A) 1902 (B) 1905

(C) 1907 (D) 1911

afe 1 vy e dmea d @1 2

(A) o/ W

() s’ (D) T A FI TR

Mazzini was associated with which organisat.ion ?

(A) Red Army (B) Carbonari
(C)  Diet | (D)  None of these
2y AR F @A F9 it 2
(A) }1/1832
(C) (D)v
_When did.Grecce' get independence ?
(A) (B)
(C) 1841 (D)
LA XSP-5511 Page 13 of44




/ WM & gg o fopant oA g2 7
qAﬂ/WW B)  WRTEl
© ®F | (D) S _‘
. - Which country wei_s defeated fn the battle of Sedan ?
{A) France : (B) Prussia
(C)  Russia o (D)  Germany
23. w9 % S F TS F ga 2
(A) 1830 - B 1905
(C) . 1910 (D) 1920
When was Duma formed in Russia ?
(A) 1’330 | o (B) 1905

() _ 1910 D) 1920

sier e Foet A 1 2

@), FEE B) W@
) afrt ﬁﬁq" |
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Who introduced April theses ?

(A) Bismarck

(C) _Mazzini

(B)

(D)

25. 1 TGl SR 239 B ¥ )

‘_(A)/W

© fagaam

(B)

(D)

Metternich

Lenin

o -

What is the first socialist country of the world ?

() Russia (B)  China

(C) _Vietnam (D) Cuba
26, et W T ST e I AT 2

(A) IFR:I' (B) _'53?'“

(C) STt D) w4

Where was Karl Marx born ?

(A)  France (B) Italy

(C) Germany (D) * Russia
27, Forgama & T @ & ?

(A) & B) forfae

© o (D) T
(L/4)111 A [XSP-5511] Page 15 of 44



Where is the capital of Victnam ?
(A)  Hanoi (B) Vientiane
€ Bangkok (D) Pyongyang

/ ,
—/2&/. ﬁmmﬁ%aﬁfaﬂaﬂmaﬁ?ﬂﬁ(ﬁﬂ_wmm

feaamms) & ey ma 2
@ A Fwgha @ e T
(C ﬁﬂmmsﬂﬁr (D) Wﬁﬁﬂ'ﬁéqﬁ

Under which agreement was Vietnam divided into two parts (Nort

Vietnam and South Vietnam) ?
(A)  Paris Agreement . (B)  Hanoi Agreement

Geneva Agreement - (D)  None of these -

- s o ot err s 9 7 ot 2
(ay” WRR 3rfEvH | @ Tt aﬁﬁw .
(C) AR Hﬁﬁ?ﬁ-' (D) ~ T aﬁ:ﬁw—r
In which session of Congress was Purna Swaraj ann;aunced ?
| (4)  Lahore Session (B) Bombay Session

(C) Nagpur Session (D) Gaya Session

(L/4) 111 A XSP-5511 . Page 16 of




30.

31.

32.

e A ff g § T aeme gem 7
A)  Ht. TomTeTeRt B) . HETIT

© W g (D) @ g THERR T

Under whose leadership Salt Satyagraha was held in Dharasana ?

(A)  C. Rajagopalachari (B) K. Kelappan

(C)  Sarojini Naidu (D) Khan Abdul Ghaffar Khan

T fear TafuyE F W FF g 2
(A) 1838 ‘ (B) -1876
© 1943 D) 1866

When was the East India Association formed ?

(A) 1838 (B) 1876

(C) 1943 (D) 1866

Wtrra‘rﬁwwmﬁaﬁeﬁ ?

(A) _m@rﬁféﬁ - (B) IEEE AR

) e fag weh (D) @ TR oo
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Who had founded Qadar Party ?

Chandra Shekhar Azad

(A)  Gurdayal Singh (B)

ilak
angadhar Ti
(C)  Sohan Singh Bhakna (D) ~ Bal Gang=

_}/mmmewamaﬁmméﬁﬂ ?

| ‘})/1907_' : (B) 1915
© 1923 | | (D) 1916
When wasl the Tata Iron and Steel Company established ?
(A) 1907 | | I(B) 1915
(C) 1923 | | | (D) 1916

34. | ﬁqﬁnqawanﬁw?ﬂﬁfam ? '.

() S et B e wee
© H (D) USHUE FET
Who invented the S-pinning Mule ?:

(A) James Hargreaves (B) Samuel Crompton

(C)  John Kay (D)  Edmund Carfwright

(L/4)1 11 A XSP-5511 - Page 18 of 4




37.

anid =mon % o W fey wan F) vl sEen §) et g

(A) yrfasiie (B) A IEALED

) Fiem! D) TR

Which type of urban system tended to grow in place ;;:f Feudal
system ?

(A) Progressive (B) Aggressive

(C) Conservative (b) Exploitative

i 1929ﬁﬁﬂaﬂm§nmﬁm%wwm ?

@A) = B)
\(9/ g T TR (D) SUH
Which country was worst affected by the great depression of 1929 ?
(A) Britain - (B) France
(C) United States of America (D) J;.a.pan
‘=g e o we P 7 @ R o 2
(A) e A (B) WM i

©) wifgs Hifd (D) anfaes Hifa
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'?
e 'New Deal
Which of the following was related to Eh

Social Policy
(A)  Political Policy (B)

Economic Policy
(C)  Religious Policy (D)

38. IR qF1 Hhy FHY W F G ?

(A) 1945 (B) 1946

© 1947 . (D) 1948

When was International Monetary Fund established ?
(A) 1945 - ~ (B) 1946

(b 1947 (D) 1948

.+ IROT el 7 s el g ? |
(A) SEH | . | (B) ﬁﬁ S

JQ/?R" | D) s

Where was the art of printing invented ?

(A)  Japan (B)  North Korea
(C) China (D)  Britain
(L/4)111 A  [Xspssi: Page 200l




41.

42.

: mﬁﬁwﬁﬁﬁmm&wﬁﬁ?

(A) TR

(C) szvﬁ /\( Si

The first paper mill was established in which country ?

(A) - France (B) Gérmany '
(C) TItaly . (D) ~China

AT S % e B E

A 'm0 (B) W™

© v O AR
Who is the author of ‘Ninety-five Theses' ?

(A)  Hegel  (B) Tolstoy

(C)  Montesquieu (D)  Martin Luther
'ﬁaﬁ-ﬁaﬂ'mwmwwm ?

(A) ST B) f&=r

) . wa"} | (D) 3T

'Sambad Kaumudi' newspaper was of which language ?

© (A) Bengali (B) Hindi

(C) Marathi ‘ (D)  English

(L/4)111 A XSP-5511
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43. T wEl w1 gt A1 ?

(A) W - (B
(€ w49 (D) i

: _ 5
Rousseau was a philosopher of which country |

(A)  France B America
(C)  Russia (D) China
44. TR 1 o e gan o 2
(A) 1786 | (B) 1768
(C) 1832 (D) 1788
When was Golghar constructed ?

(A) 1786 (B]- 1768

(C) 1832 D) 1788
\)/mﬂnmmwmaﬁﬂv%maﬁﬁmqﬁmﬁagwm?

W 1920, FTFW  (B)  IHFER 1920, EHLAR

S () AR 1920, $ER D) &= 1920, F0T97

~(L/4)111 A XSP-5511




In which session of Congress was the resolution of Non-cooperatio,

Movement passcd ?
(A)  Scptember-1920, Calcutta
(B) October 1920, Ahmadabad
(C) November 1920, Féizpur
(b) - Décember 1920, Nagpur
7@5\. AT ¥ Il e e @ I R @2
(A) E’ﬂ‘ﬂ?l‘ﬂ—‘s\' CEnil | - ) TH.TA.{E
© T M T. i
Who founded the Communigt Party of India in Tashkent ?
(A) Womesil Chandra Banerjee

(B) M. N. Roy

(C)  Satyabhakta

(L/4)111 A XSP-5511 | Page 23 of 44




Who founded the 'Young Itﬂi)".? |
(&) Mazzini (B) Lef‘iﬁ
(C)  Stalin (D) Garibaldi
48. Wﬁﬁﬁﬁwwmwgﬁ ar ?
A 1046 e B 1947
(C) 1948 o | _(Dl 1949
. When was the Constituent Assembly of India constituted ?
(A) 1946 B 1947
(C) 1948 | (D) 1949
49, ﬁwﬁ@aﬁqﬂ'ﬁ@ﬁ% 7
| A) e | (B) WER
© W o
.Whi.ch of the following is in the Union-List ?
(A) Education | (B) Communication

(C) Health | (D) Poh'_ce

B

—5511 ace 24 of 44
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S0 W RO b whw A e o e e TR K 2

(A uH-forrd
€ -foerd

(B)

(D)

7 A g T

How much majority is required in both the Houses of Parliament for

the amendment of the constitution ?

(A) One-third

(C Two-third

(B)

(D)

One-fourth

None of these

57, U ®R W U= et SoTert St Yo e Wfafd i e W

g% ?
(A) mﬁsﬁrvﬁﬁr
(©) W'ﬂﬁfﬂ

(B)

e i
FoTdd TF Hedl gAta

On the recommendation of which committee was the Panchayati Raj

system started at the national level ?

(A) Ashok Mehta Committee

(B) Verma Committee

(C)  Kelkar Committee

.(D) Balwant Rai Mehta Committee

(L/4)111 A
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[0 . . ]Tlaf el ’g ?
82wl g -1 i feaes depgd! T gt @

(A) 72 ai (B) 73 i

(C) 744 (D) 757

et 3 ati Raj
Which amendment bill of constitution is related to Panchay

system ?
(A) 72nd (B) 73rd
(C), 74th ' (D) 75th

53,/ deracht Tt a1 ga0 TR A A FAE 2
-(A] fenr aRwg (B) T e
Wﬂ afifr o TR FE T
Which of the following is the second level of Panchayati R:a_]j system ?
(A)  Zilla Parishad - (B) | '_Gra.m Panchayat
(C) ~ Panchayat Samiﬁ | tD) None of these
54 1975ﬂ?mﬂﬁ$wmaﬂm‘r ?

(A

e it (B) TlTrﬂH?ﬁ%ﬁ
(S L (D) TH. €. amer

(L/4) 111 A XSP-5511 ' ‘ dage 26 of 44



"Who w i i
as the Prime Minister during the emergency of 19757

(A) Indira Gandhj

(C) Narasimha Rao

(A)  IT R

€ fwr

(B)

(D)

Rajcev Gandhi

H. D. Deve Gowda

Famet Stidter T wRw fw g @ o 2

(D)

HAGH

Chipko Movement originated in which state ?

(A) Uttar Pradesh

(C) Bihar

6. ﬁmﬁ@aﬁw@amﬂmm%?

(A) Fﬂﬁwﬁﬁuﬁ

() A AT A

(B)

(D)

(B)

(D)

Uttarakhand

Assam

ST 31 gATEeS

Which of the following is a national political party ?

(A) Lok Janshakti Party (B)

(C)  Rashtriya Janta Dal (D)

Janta Dal United

Communist Party of India

(/4111 A

XSP-5511
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57,

T Sfuwr stieker wei qE g7 ?

: \_@/TWWFT (B) faeett

©  Tw ©) TR
Where did the Right to Information Movement start ?
(A)  Rajasthan (B) Delhi
() Bihar | (D) Gujarat
58. Wﬂmwaﬁwﬁm% ?
(A) 4T _ B) 59
€ 6 ag D) 79§
How long is the tenure of Mayor ? |
(A) 4 years | (B) 5 years
(C) 6 years ' D) 7 .yeélrs
59. A wild | fFq Ty At anfuss &9 g3 2
@A) &R B) U
(C) W W ‘_LD)/ w7 | ot
Which state got economic benefit from the Green Revolution ?
(A)  Haryana (B)  Punjab
(C)- Uttar Pradesh - (D) All of these
(L/4) 111 A XSP-5511 Page 28 o[;i




o0, T 3 Pl fazg

HR1 U 7an

(&) AT

M) sl
(C) Heiry

(1) Afcfaar

Where did th
‘ C St . .
1ggle aganst privatization of water take place ?

(B) "Sri Lanka

S (D)  Bolivia
Wﬁmmqﬁwm% >

() UH-TE ey (B) ﬁ.’?‘&ﬁtr T
W hahiil | o) TR
What_ type of party system is thére in India ?
(A) One-Part} system - (B) ﬁvo-Party system
(C)  Multi-Party system | (D)  None of these
62. TIME FHR e 391 % o war § 2
(a) e B) Awe
() e (D) SR
Madhav Kumar is the former Prime Minister of which country ?
(A)  Srilanka (B) Nepal

(C) Bhutan * (D) Bangladesh
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03, WA 1 o oW i@ @) v et A 9 A 2
A fwER. B IR
© wRg L
In which state was the first Sugar mill established in India ?
(A Bihar- . (B Uttar Pradesh
(C) Maharashtra ) (D) Ka::nataka
64. mmmm%ﬂ‘ﬂm 2
(A =ER . (B) i
(C) : ‘Em?r _ ..(D) ure
Charak was tlelated to WhiC}ll counﬁy ?
(A)  Myanmar - (B) Srilanka
(C) India (D)  Nepal

65, T T ITH FE ¢ 2

(A) T RV (B) I W
(C) TN . . (D) T
(L/4)111 A XSP-5511 Page 30 of 44




Where is Kanha National Park ?

(A)  Madhya Pradesh

(C}/ Maharashtra

(B)

(D)

Uttar Pradesh

Gujarat

68" mﬁmﬁwéwwaqﬁmmm%

\}»/zoo%nﬁam

(© 150 forit 7

A country has control over the marine resources up to

(A) 200 km

(C) 150 km
67.

(A) a:ﬁm?r |

(C) Ha"lwvﬁzr

(B)

(D)

(B)

(D)

(B)

(D)

250 fERAt aF
300 femet T
250 km.

300 km

AR

-~

ﬁmﬁﬁﬂqwﬁa%mwﬁmﬁ$mm$rwqﬁ%-?,

Which of the following is not a type of classification of resources on

the basis of ownership ?

(A) Individual (B) Community
(C) Renewable (D)  National
XSP-5511 Page 31 of 44
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o8.  fort T ) ey e A gt ¥ 7
(A) TS @ T
© W ) @
Which river has originated from Amarkantak ?
(A)  Gandak | (B) Punpun
(C) Sone | | (D) Kosi
69. ﬁmﬁmmaﬁﬁ 8T ?
w60 | | @ 50
© ss D) 65 -
What is the percentage of agricultural area in Bihar ?
(A) 60 (B 50
©) " 85 D 6

- 70. % witg wrafya ¥

@ wEEI @ swd
@ wWI O T W
(L/4)111 A XSP-5511
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White revolution is related to

(A)  Mushroom (B) Egg

(€  Milk (D)  none of these

7t Wﬁ@ﬁ%m%ﬂ}mmﬁq )
@) SR e (B) YTATER STy
(C): = Serarg (D) - ¥ | P T
Which climate is needed for the culﬁ;raﬁon of rubber ?
(A)  Temperate Do (B)  Equatorial climate
€ Dryclimate (D)  None of these

72, Wl el oI w2
w % @ W
©  Heeh ) I
Which cr§§ is gr_owx;_ as rabi and kharif both ?
(A)  Wheat - (B) Rice
(C) Groundnut . (D)  Castor seed

73. MY GR GRESHT 1 oy R Tt = faear € 2
(A)  TEH AR e e (B)  aifewn R oftew s
(C) ¥R@EUE 3R UM el (D) §REUS 3R BSHATe
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Which states get the benefit of Damoc

{ar Valley Proje

ct?

(A)  Rajasthan and Himachal pradesh

(B) Odisha and West Bengal
(C)  Jharkhand and West Bengal

(Dl Jharkhand and Chhattisgarh

/ﬁmﬁﬁﬁqmmmﬁm% ?

@A) - fomree \/(sg/%tm?z?-’

© fugfFa

Which of the following is a type of iron ore ?

(A)  Lignite | ~ (B) Haematite

(C) Bituminous . (D) Peat:
75. | ST &1 STEIT BT &

(a) e | (B) | FW A

© TEH . o) 2.

Taxol is used in

(A)  Malaria | (B)  Cancer

(C) AIDS (D) TB.
(L/4)111 A XSP-5511 I
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3 ﬁ%ﬂ:ﬂﬁq@;qmm% "

A B)  hm fgw

(C) f&R ‘

ol (D) A
Whick part of Bihar is drought pronc ?
(A) North Bihar (B) South Bihar

(01 East Bihar (D) None of these
/77./ ST e & AR oA W W R e Y e §
(a) STHEER (B) T FE
(C) " uF= | (D) zaﬁ ¥ I T

The centre on-the earth's surface vertically above the focus of an

earthquake is called
(A) Sub-centre (B) Earthquake centre
(C) Epicentre (D) none of these

78. ﬁmfﬁﬁﬁﬁmﬁﬁmmmm%?

a4) WA e B) PN GES
© HrE gErs D) T @ I
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us drought ?
Which of the following is considered as the mO

(A} Normal drought @)  Agricultur drought
(C)) Seasonal ;:1rought | Uj, None of thes€

79/ a% A wfy A & g
(A)  wEel H gt

(C) WAl Jﬁl/gﬁﬁmﬂ

Flood causes damage to

(A)  Crops | (B) Anim-als

{ J.Buﬂdh-]_gs (15) All of‘ these
frer 34 e e s ¥ 2

(A) W S | (B) HHAR

() g . (o W fawee
Which of the following is a natural disaster ?

(A) Communal riots | | (B) = Terrorism

(C) Tsuna.m‘i ' (D) Nu.clear blast
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WUT - & / SECTION - B

m / History

WY ITNG WA / Short Answer Type Questions

M#WI#GWF’?W#I:##&??'aW*Wﬁm

m%ﬁqzsﬁaﬁuﬁaé:

o-ueSffO

qu estion carries 2 marks.

Aﬂﬁ%aﬁwmﬁé ?

How did slum system begin ?
A Fifd & fHel I THERETH THE F I B
te any two positive effects of industrial revolution.

FAET T FME 2

Whatis proletariat ? -
\/ﬁ% il W U e feaeht fefen
Write a short note on Geneva agreement.

5. mﬂqﬁaﬁmﬁrwéﬁww ?

What was the aim of establishment of Swaraj Party ?

Ix2=6

n Nos. 1 to 6 are Short Answer Type. Answer any 3 questions. Each

3x2=6

o

(L/4)111 A , XSP-5511
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6. e 3 frg s sefrwaR @ 5= R 7

How did industrialization lead to colonialism ?

it 3T W / Long Answer Type Question®

mmmmewaaﬁﬁmﬁ#wwmmﬁmmé

1x4=4

fore 4 o fraifea &1

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them. Each

question carries 4 marks. Jud=q

St 3 TerERoT # frrd @) yfr @1 S0 A | 4
Describe the role of Bismarck in the ﬁniﬁcation of Germany.

8. wa T e ¥ SR i e A fftvt it R

Discuss the role of Indian National Congress in Indian national

movement.

XSP- :
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Terifa AT / Political Science

Y I WY / Short Answer Type Questions

| mmyﬁ'mwngawﬂﬂfu##wzmwf*miim

v & frw 2 3w Fraiia &1 2x2=4

Question Nos. 9 to 12 are Short Ansu)er Type. Answer any 2 questions. Each

. il
question carries 2 marks. 2x2

\)./mﬁﬂﬁﬁﬁmwaﬂrwhﬂﬁamﬁmwﬁl 2

Differentiate between the horizontal and’ vertical distribution of

power.. | ; e
A Tt w1 T o ¥ 2 | - 2
| What 1s ;cant by concurrent list ? | :
11. UM 49gd & A4 & A T | 2
State the sources of Hcatns o0 S Pancinajrat.
12, fer ¥ g ‘90 AiRied’ & WE HROT R L ? - 2

What were the main causes of Student Movement in Bihar ?

(L/4)1 11A - |XSP-5511 Page 39 of 44 '



did serdfta vy | Long Answor Type Quostlon®

. , , . ey &1 WAATE YT
WYT WEr 13vd 14 i s &1 yadk @ fewdlt ow gt o
L] x -
¥ e 4 ofw Praifa 1 1
: v of them,
Question Nos. 13 and 14 are Long Answer Type. Answer anif O 4
. | x4=4
Each question carries 4 marks.
. & Sl 4
. L)ﬁ/ wellg e exerer & wpa Raeand ferfia )
Write the main features of federnl government system.
4

14. Wqﬁwé;ﬁrmaﬂtﬁzmaﬂhaﬁl

Describe the composition and functions of Nagar Parishad.

arefy et / Economics
@Y I W / Short Answer Type Questions
9y WEar 15 @ 18 d% w1 I 81 ;aﬁ#%#zw#%ma*lm

v & forg 2 9% FraiRe &1 2x2=4
Question Nos. 15 to 18 are Short Answer Type. Answer any 2 questions. Each
question carries 2 marks. 2Lx2=4

15, weger faken Frar @ 319 w0 WER € 2 2

What do you understand by foreign direct investment ?

167" arelegaen St gRuIa {1 .

Define economy.
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17.  anfores amdoan #n & ?

What is economic infrastructur? ?

.:_18." e ?

What is Copra ?

34 35diq WeT / Long Answer Type Quutlons

¥ wEr 19(’? zoﬁﬁaaﬁvitgﬁ#ﬁm?ﬁbﬂmé‘!mm

& fr m’wﬁufﬁmn

1x4=4

Question Nos. 19 and Qb are Long Answer Type. Answer any one of them.

Each question carries 4 marks.

19. 1991-%mﬁ$§uﬁﬁmwm%?wﬁﬁguﬁaﬂ

a%ﬁwfﬁmazﬁgév

1x4=4

4

What do you understand by the Economic reform of 1991 ? Why were

these reforms needed in India ?

Ww% ?aﬁﬁﬁmqa‘anﬁmqﬁ{ﬁwﬁ’am@r

FI

4

What is economic development ? Explain the difference between

economic development and economic growth.

(L/4)111 A

XSP-5511
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"["ﬁ'ﬁ/Geography
g W WIT / Short Answer Type Questions
m#wzz#zsmagmﬂa#zﬁﬁ#ﬁvﬁawﬁé'm%:m |
T & forw 2 o it 1 . 3x2=6

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. Each
) 3x2=6

question carries 2 marks.
A T ? 2
What is miheral ?

Tl S % Y@ e I % AW fefau 2

Name the major iron ore producing étates.

23. T NGV FHI ARG B | 2
Define thermal pollution. |

24, T R} oRET F ageia w6 ww e 2 - 2
Why is river valley project called multipurpose ?

25, TR & fel Q WERI &1 Wit feeror gifwa ) 2

Give brict; account of any two types of soil. |

2 T fa@ |8 ? | 2

What is sustainable development ?
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¥t 3t wow Long Answer Type Questions

WY ST 27 vF zaﬂ#.aaﬁwhnrr#wwmmi:mm

F e 4 3% FrgfRa &) 1x4-4
Question Nos. 27 and 28 are Long Answer Type. Answer any one of them.
Each question carries 4 marks. 1 x4=4
w27, YR nteran W s F W # e o 4

Explain the impact of globalization on Indian cconomy.

28. YRAW HY ®t 7= IRHaT F T R0 § ? 4

What are the reasons for the low productivity of Indian agriculture ?

3TUET USH= / Disaster Management

Y IO WA / Short Answer Type Questions

Imﬁng#ézwwaaﬂw#:sﬁ#ﬁzm#%m?:m
wvT & o1 2 3% Fraifa &1 2x2=4

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. Each

question carries 2 marks. https://www.bihartopper.com 2x2=4
\_ 29, Wi SATIRT W& e ST SroT § Iaor Wi IR WL HifAT| 2

Explain the difference between natural disaster and man-made
disaster with examples.

(L/4)111 A ~ [xsP-s511
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Xmﬁwmmmmﬂmﬁn

' d.
Mention the precautions for protcction from floo

- g ’ ) 2
meﬁaﬁf@:ﬁﬁwwmmﬁm ?
What management shbuld be done in case of fire ?
' I 2
30, T S S & i @ & e FR @

s ; ) unication
Write the main reasons for the disruption of normal com

system.

|
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